8-4: Solve Problems Using Angle Relationships
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Sample answer: Intersecting lines
form adjacent angles that share a
ray. They also form vertical angles,
which are formed by opposite rays
and are equal in measure. They can
form complementary angles, with
measures that total 90°. They will
form supplementary angles, with
measures that total 180°.

No; Sample answer: Vertical angles
are opposite each other and only
share a vertex. Adjacent angles
share a vertex and a ray.

No; As long as two angles total 90°
they are considered complementary,
whether they are next to each other
or not. The same is true for two
supplementary angles - they just
need to total 180°.

Sample answer: 21 and 22, 24 and
25

<21 and 23
10
LX, LZ

<KOL and «LOM, 2LOM and £zMON

26
mzA = 135°, mzB =45°

415
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mz«1 + 50 =180
50 + mz£3 =180
Somz1 =mz3 =130°

Martin subtracted 55° from 180°
instead of from 90°. The correct
measure is 35°.
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